
XML

<Turn speaker="spk4" startTime="702.244" endTime="705.062">
<Sync time="702.244"/>
y cuando haces
<Event desc="voiced_pause" type="lexical" extent="begin"/>mmm<Event 
desc="voiced_pause" type="lexical" extent="end"/>
 ejercicio 
<Event desc="noise" type="noise" extent="begin"/>
<Event desc="long" type="pronounce" extent="begin"/>s<Event desc="long" 
type="pronounce" extent="end"/>ientes
<Event desc="noise" type="noise" extent="end"/>
 que te falta un poco el aire<Pro desc="asc"/>
<Turn/>
<Turn speaker="spk2" startTime="705.062" endTime="706.059">
<Sync time="705.062"/>
sí el aire<Pro desc="desc"/>
<Turn/>


